Indicator name : OIH_TMA_Actions_v1.0

TREND UP
For checking a trend, it needs 2 steps likely as below.
H4   M15
Firstly, trend of H4 should be happened on the 1st previous candle in H4 time frame.
After trend of H4 happened, then trend of M15 should happen on the 1st previous candle in M15 time frame.

① few conditions for trend up of H4 were satisfied at the same time on the 1st previous
 candle in H4 time frame.
Then
② few conditions for trend up of M15 were satisfied at the same time on the 1st previous
 candle in M15 time frame.

Take a look at the conditions and flow, please.

H4 chart
① 5 EMA[H4] > 10 EMA[H4] on the 1st previous candle in H4 time frame
&&
② RSI[H4] > 50 on the 1st previous candle in H4 time frame
&&
③ Stochastic[H4]   v1 > v2 on the 1st previous candle in H4 time frame
&&
④ Trend_Band[H4]   v1 = 1.00000 on the 1st previous candle in H4 time frame

Then
M15 chart
① price_close[M15] < v4 of TMA[M15] on the 1st previous candle in M15 time frame
&&
② CCI[M15] < 100 on the 1st previous candle in M15 time frame
&&
③ MACD[M15]   v3 = none && v4 = a certain numerical value on the 1st previous candle in M15 time frame
&&
④ MACD[M15]   v1 < v2 on the 1st previous candle in M15 time frame
&&
⑤ Trend_Band[M15]   v2 = 1.00000 on the 1st previous candle in M15 time frame
&&
⑥ 20 EMA[M15] > 50 EMA[M15] on the 1st previous candle in M15 time frame
&&
⑦ 50 EMA[M15] > 200 EMA[M15] on the 1st previous candle in M15 time frame


If all conditions above were satisfied in H4 and then M15 chart, it means a “TREND UP”.
And also, the signal of “TREND UP” has a fixed value because conditions were calculated on the 1st previous candle.
Now, the signal of “TREND UP” will be used on M5 chart.
Take a look at below pictures, please.
[image: C:\Users\thehe\Desktop\pics forTREND DOWN_1607142223\picture 01_H4 for TREND UP_07122000.png]
picture 01_H4 for TREND UP_07122000

On above picture, conditions of H4 for TREND UP were satisfied at the same time on the 1st previous candle in H4 time frame – “07.12 20:00”.


[image: C:\Users\thehe\Desktop\pics forTREND DOWN_1607142223\picture 02_M15 for TREND UP_07130315.png]
picture 02_M15 for TREND UP_07130315

On above picture, conditions of M15 for TREND UP were satisfied at the same time on the 1st previous candle in M15 time frame – “07.13 03:15”.
As soon as the trend of H4 and M15 were confirmed as TREND UP, then go to M5 time frame to get an entry point.



BUY ENTRY
M5 chart
① CCI[M5] > MA of CCI[M5] on the 1st previous candle in M5 time frame
&&
② Stochastic[M5]   v1 > v2 on the 1st previous candle in M5 time frame
&&
③ Stochastic[M5]   v1 > 20 on the 1st previous candle in M5 time frame
&&
④ MACD[M5]   v1 < v2 on the 1st previous candle in M5 time frame
&&
⑤ MACD[M5]   v4 = a certain numerical value on the 1st previous candle in M5 time frame
&&
⑥ MACD[M5]   v3 = 0.000000 on the 1st previous candle in M5 time frame
&&
⑦ MACD[M5]   value of v4 has increased from the 2nd previous to the 1st previous candle in 
M5 time frame
&&
⑧ price_close[M5] < v3 of TMA[M5] on the 1st previous candle in M5 time frame



CrossCandle
It should check below 1 condition as soon as above conditions of SELL ENTRY on M5 chart were satisfied on the 1st previous candle in M5 time frame.

〮 price_close[M5] < v2 of TMA[M5] on the 1st previous candle in M5 time frame



Stop Loss for BUY ENTRY
· Lowest Low of price[M5] where the condition of “CrossCandle” happened



For more clear explanations, take a look at below pictures, please.
[image: C:\Users\thehe\Desktop\pics forTREND DOWN_1607142223\picture 03_M5 for BUY ENTRY & CrossCandle_07130335 01.png]
picture 03_M5 for BUY ENTRY & CrossCandle_07130335 01

On above picture, there are 3 vertical lines – 2 white lines and 1 yellow vertical line.
The 1st vertical line from left side is the line where trend of H4 happened.
And the 2nd vertical line from left side is the line where trend of M15 happened.
Finally, the 3rd yellow dotted vertical line is the line where BUY ENTRY in M5 time frame happened.



[image: C:\Users\thehe\Desktop\pics forTREND DOWN_1607142223\picture 03_M5 for BUY ENTRY & CrossCandle_07130335 02.png]
picture 03_M5 for BUY ENTRY & CrossCandle_07130335 02

For more explains of where the BUY ENTRY happened, I zoomed in.
The yellow vertical line at 07.13 03:35 is for the place of BUY ENTRY happened, so it will show an up_arrow below current candle (07.13 03:40).
And for the “CrossCandle”, take a look at the areas where below conditions of CrossCandle was satisfied, please.

〮 price_close[M5] < v2 of TMA[M5] on the 1st previous candle in M5 time frame

Above condition was satisfied from 07.13 03:10 to 03:25.
03:10 price_low 1.32248
03:15 price_low 1.32233
03:20 price_low 1.32340
03:25 price_low 1.32301

At this time, the Lowest Low price is 1.32233 at 03:15
So the Lowest Low price_1.32233 will be used as Stop Loss for BUY ENTRY.

BUY EXIT
① 20 EMA[M5] > 50 EMA[M5] on the 1st previous candle in M5 time frame
&&
② Price_close[M5] > v3 of TMA[M5] on the 1st previous candle in M5 time frame





TREND DOWN
For checking a trend, it needs 2 steps likely as below.
H4   M15
Firstly, trend of H4 should be happened on the 1st previous candle in H4 time frame.
After trend of H4 happened, then trend of M15 should happen on the 1st previous candle in M15 time frame.

① few conditions for trend down of H4 were satisfied at the same time on the 1st previous
 candle in H4 time frame.
Then
② few conditions for trend down of M15 were satisfied at the same time on the 1st previous
 candle in M15 time frame.

Take a look at the conditions and flow, please.

H4 chart
① 5 EMA[H4] < 10 EMA[H4] on the 1st previous candle in H4 time frame
&&
② RSI[H4] < 50 on the 1st previous candle in H4 time frame
&&
③ Stochastic[H4]   v1 < v2 on the 1st previous candle in H4 time frame
&&
④ Trend_Band[H4]   v2 = 1.00000 on the 1st previous candle in H4 time frame

Then
M15 chart
① price_close[M15] > v3 of TMA[M15] on the 1st previous candle in M15 time frame
&&
② CCI[M15] > 100 on the 1st previous candle in M15 time frame
&&
③ MACD[M15]   v3 = a certain numerical value && v4 = none on the 1st previous candle in M15 time frame
&&
④ MACD[M15]   v1 > v2 on the 1st previous candle in M15 time frame
&&
⑤ Trend_Band[M15]   v1 = 1.00000 on the 1st previous candle in M15 time frame
&&
⑥ 20 EMA[M15] < 50 EMA[M15] on the 1st previous candle in M15 time frame
&&
⑦ 50 EMA[M15] < 200 EMA[M15] on the 1st previous candle in M15 time frame


If all conditions above were satisfied in H4 and then M15 chart, it means a “TREND DOWN”.
And also, the signal of “TREND DOWN” has a fixed value because conditions were calculated on the 1st previous candle.
Now the signal of “TREND DOWN” will be used on M5 chart.



SELL ENTRY
M5 chart
① CCI[M5] < MA of CCI[M5] on the 1st previous candle in M5 time frame
&&
② Stochastic[M5]   v1 < v2 on the 1st previous candle in M5 time frame
&&
③ Stochastic[M5]   v1 < 80 on the 1st previous candle in M5 time frame
&&
④ MACD[M5]   v1 > v2 on the 1st previous candle in M5 time frame
&&
⑤ MACD[M5]   v3 = a certain numerical value on the 1st previous candle in M5 time frame
&&
⑥ MACD[M5]   v4 = none on the 1st previous candle in M5 time frame
&&
⑦ MACD[M5]   v3 has decreased from the 2nd previous to the 1st previous candle in 
M5 time frame
&&
⑧ price_close[M5] > v4 of TMA[M5] on the 1st previous candle in M5 time frame



CrossCandle
It should check below 1 condition as soon as above conditions of SELL ENTRY on M5 chart were satisfied on the 1st previous candle in M5 time frame.

〮 price_close[M5] > v1 of TMA[M5] on the 1st previous candle in M5 time frame



Stop Loss for SELL ENTRY
· Highest High of price[M5] where the condition of “CrossCandle” happened



SELL EXIT
① 20 EMA[M5] < 50 EMA[M5] on the 1st previous candle in M5 time frame
&&
② Price_close[M5] < v4 of TMA[M5] on the 1st previous candle in M5 time frame





Alert functions

AlertOnce
It needs to have above function to get only one signal in the possible entry zone when the entry signal already happened.



An arrow of ENTRY / EXIT / STOP LOSS
Take a look at below picture, please.
[image: C:\Users\thehe\Desktop\pics forTREND DOWN_1607142223\picture 04_arrow display for BUY ENTRY&EXIT&SL.png]
picture 04_arrow display for BUY ENTRY&EXIT&SL



[image: C:\Users\thehe\Desktop\pics forTREND DOWN_1607142223\picture 05_arrow display for SELL ENTRY&EXIT&SL.png]
picture 05_arrow display for SELL ENTRY&EXIT&SL

An arrow of BUY ENTRY
A DodgerBlue colored up_arrow below current candle in M5 time frame when BUY ENTRY signal happened on the 1st previous candle in M5 time frame.
An arrow of Stop Loss for BUY ENTRY
A Plum colored and looked like “X” will be shown below the Lowest Low price by CrossCandle when BUY ENTRY sig happened on the 1st previous candle in M5 time frame.

An arrow of BUY EXIT
A Tomato colored dn_arrow above current candle in M5 time frame when BUY EXIT signal happened on the 1st previous candle in M5 time frame.

An arrow of SELL ENTRY
A DeepPink colored dn_arrow above current candle in M5 time frame when SELL ENTRY signal happened on the 1st previous candle in M5 time frame.

An arrow of Stop Loss for SELL ENTRY
An Aquamarine colored and looked like “X” will be shown above the Highest High price by CrossCandle when SELL ENTRY sig happened on the 1st previous candle in M5 time frame.

An arrow of SELL EXIT
A DeepSkyBlue colored up_arrow below current candle in M5 time frame when SELL EXIT signal happened on the 1st previous candle in M5 time frame.





A formation of e-mail alarm of ENTRY / EXIT / STOP LOSS

BUY ENTRY
When signal of BUY ENTRY happened, then it will send it by e-mail likely as below.
〮 1607132225_GBPUSD_BUY ENTRY_1.XXXXX
“16” = year(2016), “0713” = 13 July, “2225” = 22:25(time), “GBPUSD” = pair, “BUY ENTRY” = signal typed happened, “1.XXXXX” = price_close when signal happened on the 1st previous candle in M5 time frame



Stop Loss for BUY ENTRY
When signal of Stop Loss for BUY ENTRY happened, then it will send it by e-mail likely as below.
〮 1607132245_GBPUSD_SL for BUY ENTRY happened_1.XXXXX
“16” = year(2016), “0713” = 13 July, “2245” = 22:45(time), “GBPUSD” = pair, “SL for BUY ENTRY happened” = signal typed happened, “1.XXXXX” = price_close when signal happened on the 1st previous candle in M5 time frame



BUY EXIT
When signal of BUY EXIT happened, then it will send it by e-mail likely as below.
〮 1607132355_GBPUSD_BUY EXIT_1.XXXXX
“16” = year(2016), “0713” = 13 July, “2229” = 23:55(time), “GBPUSD” = pair, “BUY EXIT” = signal typed happened, “1.XXXXX” = price_close when signal happened on the 1st previous candle in M5 time frame



SELL ENTRY
When signal of SELL ENTRY happened, then it will send it by e-mail likely as below.
〮 1607140435_GBPUSD_SELL ENTRY_1.XXXXX
“16” = year(2016), “0714” = 14 July, “0435” = 04:35(time), “GBPUSD” = pair, “SELL ENTRY” = signal typed happened, “1.XXXXX” = price_close when signal happened on the 1st previous candle in M5 time frame



Stop Loss for SELL ENTRY
When signal of Stop Loss for SELL ENTRY happened, then it will send it by e-mail likely as below.
〮 1607140455_GBPUSD_SL for SELL ENTRY happened_1.XXXXX
“16” = year(2016), “0714” = 14 July, “0455” = 04:55(time), “GBPUSD” = pair, “SL for SELL ENTRY happened” = signal typed happened, “1.XXXXX” = price_close when signal happened on the 1st previous candle in M5 time frame



SELL EXIT
When signal of SELL EXIT happened, then it will send it by e-mail likely as below.
〮 1607140605_GBPUSD_SELL EXIT_1.XXXXX
“16” = year(2016), “0714” = 14 July, “0605” = 06:05(time), “GBPUSD” = pair, “SELL EXIT” = signal typed happened, “1.XXXXX” = price_close when signal happened on the 1st previous candle in M5 time frame





Notice
Please note that there are few custom indicators.
Few custom indicators not included in the attachment are as followings below.

〮 Moving Average
〮 Commodity Channel Index
〮 Relative Strength Index
〮 Stochastic Oscillator

For reference, CCI indicator at sub_window was used with 7 SMA applied to “Previous Indicator’s Data”.





General Requirements
〮 It should work properly with no lagging.
〮 There should be adjustable options for the whole indicators used to adjust and select in the
 parameter.
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